

تالیف شماره ۴

زبان آلمانی

بازمختار

الف  $\frac{x^p + 1 - 2x - x^p}{x^p - x} = \frac{1 - 2x}{x^p - x} \geq 0 \rightarrow$   $\frac{1}{p} \quad 1$   $(-\infty, 0) \cup [\frac{1}{p}, 1)$

$+ \frac{1}{p} - \frac{1}{p} + \frac{1}{p} -$

ب  $\frac{x - 2x - 2}{x^p + x} = \frac{x - 2}{x^p + x} \geq 0 \rightarrow$   $\mathbb{R} - \{-1, 0, -\frac{1}{p}, -2, 1\}$

$\frac{2x + 9 + x - 1}{x^p + 1x - 2} = \frac{3x + 8}{x^p + x - 2}$   $\frac{1}{p}, 1, -2$

الف  $((\frac{1}{p})^x - 9)(32 - 4^x) \geq 0 \rightarrow x = \frac{1}{p}, -2$   $\frac{-2}{p} \quad \frac{1}{p}$

$(-\infty, -2] \cup [\frac{1}{p}, +\infty)$   $+ \frac{1}{p} - \frac{1}{p} +$

ب  $x - 1 \geq 0 \rightarrow x \geq 1$

$\sqrt{y+1} = \sqrt[3]{x-1} \rightarrow \sqrt[3]{x-1} \geq 0 \rightarrow \sqrt[3]{x-1} \geq 1 \rightarrow x-1 \geq 1 \rightarrow x \geq 2$

بین این دو  
شبه  $[1, 2]$

s.a.m

$$x^p - x - p > 0 \rightarrow (x - p)(x + 1) > 0 \rightarrow \begin{array}{c} -1 \quad p \\ + \quad \phi \quad - \quad \phi \quad + \end{array} \quad .3$$

$$x^p - 1 > 0 \rightarrow \begin{array}{c} -1 \quad 1 \\ + \quad \phi \quad - \quad \phi \quad + \end{array} \quad (-\infty, -1) \cup (p, +\infty)$$

$$\sqrt{x^p - 1} + 1 \neq 0 \rightarrow \sqrt{x^p - 1} \neq -1 \quad \times \text{نفسه}$$

$$px + ax - x^p > 0 \xrightarrow{x=-p} p - pa - p = 0 \rightarrow pa - 1 = 0 \rightarrow pa = 1 \rightarrow a = \frac{1}{p} \quad .4$$

$$-x^p - \frac{1}{p}x + p > 0 \rightarrow \Delta = +\frac{1}{p} - \frac{p(p \times -1)}{+1p} > 0$$

$$-x^p - \frac{1}{p}x + p = 0 \rightarrow \Delta = \frac{p^2}{p} \rightarrow \frac{-b \pm \sqrt{b^2 - 4ac}}{2a} = \frac{-\frac{1}{p} \pm \sqrt{\frac{1}{p^2}}}{-\frac{1}{p}} = \frac{-\frac{1}{p} \pm \frac{1}{p}}{-\frac{1}{p}} = \frac{0}{-\frac{1}{p}} = 0$$

$$a + b = -\frac{1}{p} + \frac{p}{p} = 1$$

$$x > 1 \rightarrow \sqrt{px - p - x} \rightarrow \sqrt{px - p} \rightarrow x > 1$$

$$x < 1 \rightarrow \sqrt{px + p} - x \rightarrow x > -p$$

$$\sqrt{f(x)} - x \rightarrow f(x) > x \rightarrow x > -p \quad [-p, +\infty)$$

$$p(a+1)(v) = pa - p + a \xrightarrow{v} (pa + p) = pa - p \rightarrow 1pa + 1p = pa - p \rightarrow 1 \cdot a = -1 \quad .5$$

$$\left(\sqrt{x} + \frac{1}{\sqrt{x}}\right)^p \rightarrow \left(\sqrt{p-\sqrt{p}} + \frac{1}{\sqrt{p-\sqrt{p}}}\right)^p + \left(\sqrt{p+\sqrt{p}} + \frac{1}{\sqrt{p+\sqrt{p}}}\right)^p \quad .6$$

$$\sqrt{p-\sqrt{p}} + \frac{1}{\sqrt{p-\sqrt{p}}} + p = \sqrt{p-\sqrt{p}} + \sqrt{p+\sqrt{p}} + p = \sqrt{p-\sqrt{p}} + \sqrt{p+\sqrt{p}} + p \quad .7$$

$$\sqrt{p+\sqrt{p}} + \sqrt{p-\sqrt{p}} + p \quad .8 \quad \textcircled{1} + \textcircled{2} = p(\sqrt{p-\sqrt{p}} + \sqrt{p+\sqrt{p}}) + p = p + p\sqrt{p}$$

$$\sqrt{p-\sqrt{p}} + \sqrt{p+\sqrt{p}} = A \rightarrow A^p = p + p\sqrt{p} \rightarrow A = \sqrt[p]{p + p\sqrt{p}}$$

$$Pf(x) - Pf(-x) = kx^p - x \rightarrow Pf(x) - Pf(-x) = 1x^p - kx \quad \text{--- 8}$$

$$Pf(-x) - Pf(x) = kx^p + x \rightarrow Pf(x) - Pf(-x) = 1x^p + kx \quad \text{--- 9}$$

$$-df(x) = -x^p + x$$

$$-kx^p - \frac{x}{\omega} = f(x)$$

$$Pf(x) = \frac{1}{p}x^{p+1} \rightarrow f(x) = \frac{1}{p}x^{p+1}$$

$$x = -1 \rightarrow Pf(-1) = \frac{1}{p}(-1)^{p+1} = \frac{1}{p}(-1)^{p+1} = \frac{1}{p}(-1)^{p+1} = \frac{1}{p}(-1)^{p+1}$$

$$Pf(-1) = \frac{1}{p}(-1)^{p+1} = \frac{1}{p}(-1)^{p+1} = \frac{1}{p}(-1)^{p+1}$$

$$Pf(x) = \frac{1}{p}x^{p+1} = 1 \rightarrow f(x) = \frac{1}{p}x^{p+1}$$

$$\frac{1}{p} = m \leftarrow 1A = km$$

$$ax+b + \frac{a}{x} + b = \frac{1}{x}x^p - 1x + 1 \rightarrow -a+b - a+b = \frac{1-1p+1}{-1} \rightarrow -2a+2b = -1 \quad \text{--- 10}$$

$$b-a = -\frac{1}{2} \quad \text{--- 11}$$

$$x=1 \rightarrow a+b+a+b = \frac{1-1p+1}{-1} \rightarrow 2a+2b = -1 \rightarrow a+b = -\frac{1}{2} \quad \text{--- 12}$$

$$\text{--- 11, 12} \rightarrow 2b = -1 \rightarrow b = -\frac{1}{2} \quad a = \frac{1}{2}$$

$$x = -1 \rightarrow -\frac{1}{2} - \frac{1}{2} = -1$$

s.a.m